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500 MOST EXPECTED QUESTIONS
Question 1- The average marl tudents 1s 80

Afterwards, it 1s found that the marks of 2students are taken

Wrong a‘ 'wtead 6f 84 and 64. Khe correct average
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\ ¢ “} Question 2- Pipes P and Q can together fill a tank 1n 20 hours

https://t. me/Mathbytarunsir and pipe R can emp@f the tank ind the time
0 taken by all the 3 pipes together to fill 60% of the tank
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E. None of these
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Question 3- Speed of the stream is 4 km/hr and the upstream

speed is 8 km/hr. Rind the time taken by boat to cove

downstream
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E. None of these
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https://t. me/Mathbytarunsir ~ Of the total votes got rejected and the winne

valid votes. Find the number of votes loser got.
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Question S@X 2@41{@ =0

8|
ﬁ(%{ B.x <Yy
Cx=<Yy

D.x=2Yy

E. X= 7y or relation cant be
established
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Question 6- @y 2 120y +6)=0 <

E. X= 1y or relation cant be
established
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Question 7- A and B borrowed the same sum of money at 6%

https://t. me/Mathbytarunsir and 8% respectively rate of simple interest per annum for
2years. B paid Rs. 160 more interest than A. Find the sum
T4 7- A B = G G SFH: 6% 3R 8% hI S H 2 991 oh
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I E. None of these
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Question re taken together out of a pack of 52

cards. The probability of getting red card 1s?
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B. 20/101
C. 30/102

D. 71/102

E. None of these
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Question 9- A bag contains 4 red and 5 green balls. Two balls

https://t. me/Mathbytarunsir ~ are drawn randomly find the probability of getting red ball.
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Question 10- A gold of weig rams is cut into three

https://t. me/Mathbytarunsir ~ p1eces. The weight of the first piece and the second piece are in

a ratio he weight of the third piece i

Find the weight of the first piece
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Question 11- (.25, 2.25, 6.25, 12.25, 20.25, 30.25, ?
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B. 40.25
C.44.25
D.46.25
E. None of these
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Question 12- 13, 55, 225, 907, ?
https://t.me/Mathbytarunsir ~—
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Question 13- In how many ways letter of word DURATION be

arranged so that order of vowels and consonants does not

change.
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work and after 2 days B left the work.In how much time work

was completed?
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E. None of these
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Question ISY\ 54.54%01f 1100 + 37.5% of 6400 — 22.22%/of 8100 = ?

T4 15- 1100 kT 54.54% + 6400 =T 37.5% — 8100 <hT 22.22% = 7?
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= 600+ 00 — (800
= [0 o

30

A.1100
—B- 1200
C. 2200
D.3300
— E. None of these
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+ 48%01 625 =7

(200+70—6)=6

+ 625 T 48% = ?
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E. None of these
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